Apr 1, 2014 - Apr 30,

7. yahoo / organic

8.

9.

10.

12.

13.

14.

15.

16.

18.

19.

20.

21.

22.

23.

24.

25.

maine.gov / referral

ptrca.org / referral

ursus.maine.edu / referral

umainealumni.com / referral

mainegenealogy.net / referral

facebook.com / referral

130.111.64.3 / referral

17. notify.bluecoat.com / referral

validator.w3.org / referral

foglerlibrary.org / referral

26. google.com / referral

chemistry.umeche.maine.edu / referral

libquides.library.umaine.edu / referral

web.a.ebscohost.com.prxy4.ursus.maine.edu / referral

web.b.ebscohost.com.prxy4.ursus.maine.edu / referral

worldcat.org / referral

ask / organic

qq4nm4zz3u.search.serialssolutions.com / referral

umaine.summon.serialssolutions.com / referral

Traffic Sources

All Sessions

100.00%

Explorer

Summary



Sessions 2,000			<u> </u>	,400 44.62% 2.99 00:05:05 15 Site Avg: 00:03% 44.62% 2.99 00:05:05 (0.00%) (0.00%)			
1,000					\		
Apr 8	Apr 15		Apr	22		Apr 29	
	Acquisition			Behavior			Conve
Source / Medium	Sessions	% New Sessions	New Users	Bounce Rate			Ac (Go
	43,680 % of Total: 100.00% (43,680)	32.97% Site Avg: 32.96% (0.03%)	14,400 % of Total: 100.03% (14,396)	Site Avg: 44.62%	Site Avg: 2.99	Site Avg: 00:05:05	
1. google / organic	15,544 (35.59%)	17.38%	2,702 (18.76%)	38.94%	3.10	00:06:22	
2. (direct) / (none)	14.472 (33.13%)	55.21%	7.990 (55.49%)	57.64%	2.25	00:03:07	

265 (0.61%)

227 (0.52%)

190 (0.43%)

114 (0.26%)

85 (0.19%)

72 (0.16%)

68 (0.16%)

62 (0.14%)

46 (0.11%)

45 (0.10%)

44 (0.10%)

42 (0.10%)

36 (0.08%)

35 (0.08%)

33 (0.08%)

33 (0.08%)

29 (0.07%)

27 (0.06%)

26 (0.06%)

25 (0.06%)

Source / Medium	Acquisition B			Behavior			Conversions	Goal 1: Mobile IDB Access	
	Sessions	% New Sessions	New Users	Bounce Rate	Pages / Session	Avg. Session Duration	Mobile IDB Access (Goal 1 Conversion Rate)	Mobile IDB Access (Goal 1 Completions)	Mol Acces Val
	43,680 % of Total:	32.97% Site Avg:	14,400 % of Total:	44.62% Site Avg:	2.99 Site Avg:	00:05:05 Site Avg:	15.25% Site Avg:	,	

Source / Medium	Sessions	% New Sessions	New Users	Bounce Rate	Pages / Session	Avg. Session Duration	Mobile IDB Access (Goal 1 Conversion Rate)	Mobile IDB Access (Goal 1 Completions)	Mol Acces Val
	43,680 % of Total: 100.00% (43,680)	32.97% Site Avg: 32.96% (0.03%)	14,400 % of Total: 100.03% (14,396)	44.62% Site Avg: 44.62% (0.00%)	2.99 Site Avg: 2.99 (0.00%)	00:05:05 Site Avg: 00:05:05 (0.00%)	15.25% Site Avg: 15.25% (0.00%)	6,661 % of Total: 100.00% (6,661)	0.00

						Rate)		Val
0 al: 0)	32.97% Site Avg: 32.96% (0.03%)	14,400 % of Total: 100.03% (14,396)	44.62% Site Avg: 44.62% (0.00%)	2.99 Site Avg: 2.99 (0.00%)	00:05:05 Site Avg: 00:05:05 (0.00%)	15.25% Site Avg: 15.25% (0.00%)	6,661 % of Total: 100.00% (6,661)	0.00
%)	17.38%	2,702 (18.76%)	38.94%	3.10	00:06:22	19.69%	3,060 (45.94%)	\$0.00

3.13

2.26

2.94

2.22

2.52

1.72

2.31

7.50

1.93

2.38

1.77

6.31

1.97

2.66

3.30

2.45

2.07

2.85

1.19

2.68

00:02:01

00:01:48

00:04:28

00:03:03

00:06:08

00:01:58

00:03:12

00:22:03

00:05:20

00:02:30

00:04:34

00:08:03

00:02:46

00:02:17

00:03:35

00:01:19

00:02:07

00:01:18

00:01:16

00:03:18

15.47%

0.44%

22.63%

16.67%

5.88%

15.28%

1.47%

12.90%

13.04%

0.00%

9.09%

4.76%

50.00%

22.86%

96.97%

36.36%

3.45%

25.93%

0.00%

24.00%

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00 \$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

41 (0.62%)

1 (0.02%)

43 (0.65%)

19 (0.29%)

5 (0.08%)

11 (0.17%)

1 (0.02%)

8 (0.12%)

6 (0.09%)

0 (0.00%)

4 (0.06%)

2 (0.03%)

18 (0.27%)

8 (0.12%)

32 (0.48%)

12 (0.18%)

1 (0.02%)

7 (0.11%)

0 (0.00%)

6 (0.09%)

47.17%

55.51%

35.26%

57.02%

54.12%

59.72%

61.76%

19.35%

58.70%

48.89%

61.36%

19.05%

50.00%

25.71%

21.21%

33.33%

62.07%

22.22%

80.77%

44.00%

2. (direct) / (none)	14,472 (33.13%)	55.21%	7,990 (55.49%)	57.64%	2.25	00:03:07	11.91%	1,723 (25.87%)	\$0.00
3. library.umaine.edu / referral	6,606 (15.12%)	29.25%	1,932 (13.42%)	39.69%	4.24	00:06:55	2.51%	166 (2.49%)	\$0.00
4. umaine.edu / referral	3,259 (7.46%)	19.33%	630 (4.38%)	25.19%	3.18	00:02:56	32.25%	1,051 (15.78%)	\$0.00

41.13%

80.62%

3.16%

0.00%

0.00%

6.94%

13.24%

45.16%

4.35%

71.11%

0.00%

0.00%

8.33%

22.86%

6.06%

78.79%

41.38%

81.48%

3.85%

20.00%

e.edu / referral	3,259 (7.46%)	19.33%	630 (4.38%)	25.19%	3.18	00:02:56	32.25%	1,051 (15.78%)	\$0.00
organic	972 (2.23%)	16.56%	161 (1.12%)	40.23%	3.50	00:12:59	15.64%	152 (2.28%)	\$0.00

5.	bing / organic	972 (2.23%)	16.56%	161 (1.12%)	40.23%	3.50	00:12:59	15.64%	152 (2.28%)	\$0.00
6.	libraries.maine.edu / referral	660 (1.51%)	18.79%	124 (0.86%)	24.85%	3.44	00:03:13	31.06%	205 (3.08%)	\$0.00

109 (0.76%)

183 (1.27%)

6 (0.04%)

0 (0.00%)

0 (0.00%)

5 (0.03%)

9 (0.06%)

28 (0.19%)

2 (0.01%)

32 (0.22%)

0 (0.00%)

0 (0.00%)

3 (0.02%)

8 (0.06%)

2 (0.01%)

26 (0.18%)

12 (0.08%)

22 (0.15%)

1 (0.01%)

5 (0.03%)

27.	search / organic	25 (0.06%)	40.00%	10 (0.07%)	52.00%	2.48	00:01:01	20.00%	5 (0.08%)	\$0.0
28.	aol / organic	24 (0.05%)	66.67%	16 (0.11%)	83.33%	1.25	00:00:57	0.00%	0 (0.00%)	\$0.0
29.	martinwallace.net / referral	23 (0.05%)	0.00%	0 (0.00%)	52.17%	1.78	00:00:33	4.35%	1 (0.02%)	\$0.0
30.	voyager.umeres.maine.edu / referral	21 (0.05%)	0.00%	0 (0.00%)	9.52%	6.00	00:07:35	28.57%	6 (0.09%)	\$0.0
31.	dir.yahoo.com / referral	20 (0.05%)	90.00%	18 (0.12%)	70.00%	1.40	00:01:15	0.00%	0 (0.00%)	\$0.0
32.	semalt.semalt.com / referral	19 (0.04%)	100.00%	19 (0.13%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
33.	artikelkomputerku.blogspot.com / referral	18 (0.04%)	100.00%	18 (0.12%)	77.78%	1.39	00:00:47	0.00%	0 (0.00%)	\$0.0
34.	baidu.com / referral	18 (0.04%)	0.00%	0 (0.00%)	0.00%	2.56	00:02:20	100.00%	18 (0.27%)	\$0.0
35.	digitalcommons.library.umaine.edu / referral	18 (0.04%)	83.33%	15 (0.10%)	72.22%	1.39	00:00:22	0.00%	0 (0.00%)	\$0.0
36.	I.facebook.com / referral	17 (0.04%)	82.35%	14 (0.10%)	11.76%	5.18	00:11:15	0.00%	0 (0.00%)	\$0.0
37.	marcandangel.com / referral	16 (0.04%)	100.00%	16 (0.11%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
38.	search.tb.ask.com / referral	16 (0.04%)	50.00%	8 (0.06%)	50.00%	2.81	00:04:44	6.25%	1 (0.02%)	\$0.0
39.	library.umaine.edu.prxy4.ursus.maine.edu / referral	15 (0.03%)	80.00%	12 (0.08%)	20.00%	7.93	00:08:56	0.00%	0 (0.00%)	\$0.0
40.	worldcatlibraries.org / referral	14 (0.03%)	0.00%	0 (0.00%)	78.57%	1.79	00:02:46	7.14%	1 (0.02%)	\$0.0
41.	en.wikipedia.org / referral	13 (0.03%)	100.00%	13 (0.09%)	92.31%	1.23	00:00:24	0.00%	0 (0.00%)	\$0.0
42.	m.facebook.com / referral	13 (0.03%)	100.00%	13 (0.09%)	7.69%	7.46	00:08:47	0.00%	0 (0.00%)	\$0.0
43.	digitalcuration.nmdprojects.net / referral	12 (0.03%)	25.00%	3 (0.02%)	50.00%	3.58	00:01:35	91.67%	11 (0.17%)	\$0.0
44.	uspto.gov / referral	11 (0.03%)	100.00%	11 (0.08%)	72.73%	1.27	00:00:58	0.00%	0 (0.00%)	\$0.0
45.	penobscotbay.blogspot.com / referral	10 (0.02%)	0.00%	0 (0.00%)	10.00%	2.10	00:01:58	10.00%	1 (0.02%)	\$0.0
46.	development.library.umaine.edu / referral	9 (0.02%)	0.00%	0 (0.00%)	44.44%	5.89	00:14:51	22.22%	2 (0.03%)	\$0.0
47.	umaine.summon.serialssolutions.com.prxy4.ursus.maine.edu / referral	9 (0.02%)	100.00%	9 (0.06%)	33.33%	2.89	00:03:08	0.00%	0 (0.00%)	\$0.0
48.	home.tylerkirkmann.com / referral	8 (0.02%)	0.00%	0 (0.00%)	62.50%	1.38	00:02:45	0.00%	0 (0.00%)	\$0.0
49.	libguides.uwrf.edu / referral	8 (0.02%)	100.00%	8 (0.06%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
50.	search.mywebsearch.com / referral	8 (0.02%)	50.00%	4 (0.03%)	75.00%	2.12	00:00:59	0.00%	0 (0.00%)	\$0.0
51.	us.wow.com / referral	8 (0.02%)	87.50%	7 (0.05%)	75.00%	1.62	00:00:03	12.50%	1 (0.02%)	\$0.0
52.	192.168.33.1 / referral	7 (0.02%)	14.29%	1 (0.01%)	71.43%	2.00	00:00:38	0.00%	0 (0.00%)	\$0.0
53.	learn.maine.edu / referral	7 (0.02%)	71.43%	5 (0.03%)	28.57%	3.71	00:09:43	0.00%	0 (0.00%)	\$0.0
54.	r.duckduckgo.com / referral	7 (0.02%)	42.86%	3 (0.02%)	71.43%	2.00	00:00:47	0.00%	0 (0.00%)	\$0.0
55.	search.genieo.com / referral	7 (0.02%)	14.29%	1 (0.01%)	14.29%	4.29	00:06:45	42.86%	3 (0.05%)	\$0.0
56.	semalt.com / referral	7 (0.02%)	100.00%	7 (0.05%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
57.	state.me.us / referral	7 (0.02%)	71.43%	5 (0.03%)	42.86%	3.86	00:00:55	0.00%	0 (0.00%)	\$0.0
58.	americanancestors.org / referral	6 (0.01%)	83.33%	5 (0.03%)	0.00%	7.33	00:07:19	16.67%	1 (0.02%)	\$0.0
59.	degreed.com / referral	6 (0.01%)	83.33%	5 (0.03%)	66.67%	1.33	00:00:27	0.00%	0 (0.00%)	\$0.0
60.	familysearch.org / referral	6 (0.01%)	100.00%	6 (0.04%)	50.00%	2.50	00:00:29	0.00%	0 (0.00%)	\$0.0
61.	onlinelibrary.wiley.com.prxy4.ursus.maine.edu / referral	6 (0.01%)	83.33%	5 (0.03%)	66.67%	2.50	00:03:36	16.67%	1 (0.02%)	\$0.0
62.	tinyurl.com / referral	6 (0.01%)	33.33%	2 (0.01%)	66.67%	1.50	00:00:10	0.00%	0 (0.00%)	\$0.0
63.	website-unavailable.com / referral	6 (0.01%)	33.33%	2 (0.01%)	16.67%	4.17	00:05:09	66.67%	4 (0.06%)	\$0.0
64.	192.168.2.1 / referral	5 (0.01%)	0.00%	0 (0.00%)	80.00%	3.60	00:06:23	20.00%	1 (0.02%)	\$0.0
65.	beta.worldcat.org / referral	5 (0.01%)	20.00%	1 (0.01%)	80.00%	1.40	00:00:18	20.00%	1 (0.02%)	\$0.0
66.	catalog.gpo.gov / referral	5 (0.01%)	20.00%	1 (0.01%)	0.00%	10.00	00:35:05	0.00%	0 (0.00%)	\$0.0
67.	courses.maine.edu / referral	5 (0.01%)	20.00%	1 (0.01%)	0.00%	3.40	00:01:02	80.00%	4 (0.06%)	\$0.0
68.	forest.umaine.edu / referral	5 (0.01%)	80.00%	4 (0.03%)	40.00%	3.80	00:13:04	0.00%	0 (0.00%)	\$0.0
69.	old-town.org / referral	5 (0.01%)	80.00%	4 (0.03%)	20.00%	2.60	00:00:51	0.00%	0 (0.00%)	\$0.0
70.	web.bobbasement.com / referral	5 (0.01%)	60.00%	3 (0.02%)	80.00%	1.60	00:00:21	0.00%	0 (0.00%)	\$0.0
71.	comcast / organic	4 (0.01%)	75.00%	3 (0.02%)	50.00%	2.50	00:01:48	0.00%	0 (0.00%)	\$0.0
72.	en.m.wikipedia.org / referral	4 (0.01%)	25.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
73.	jsoneditoronline.org / referral	4 (0.01%)	25.00%	1 (0.01%)	50.00%	2.50	00:07:12	0.00%	0 (0.00%)	\$0.0
74.	loc.gov / referral	4 (0.01%)	100.00%	4 (0.03%)	50.00%	1.50	00:00:31	0.00%	0 (0.00%)	\$0.0

75. umit.maine.edu / referral	4 (0.01%)	50.00%	2 (0.01%)	100.00%	1.00	00:00:00	50.00%	2 (0.03%)	\$0.0
76. accessgenealogy.com / referral	3 (0.01%)	100.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
77. avg / organic	3 (0.01%)	33.33%	1 (0.01%)	33.33%	2.67	00:00:07	66.67%	2 (0.03%)	\$0.0
78. duckduckgo.com / referral	3 (0.01%)	66.67%	2 (0.01%)	33.33%	2.00	00:00:11	0.00%	0 (0.00%)	\$0.0
79. find.galegroup.com.prxy4.ursus.maine.edu / referral	3 (0.01%)	100.00%	3 (0.02%)	33.33%	2.33	00:00:14	33.33%	1 (0.02%)	\$0.0
80. go.umaine.edu / referral	3 (0.01%)	100.00%	3 (0.02%)	66.67%	4.33	00:00:50	0.00%	0 (0.00%)	\$0.0
81. google.fr / referral	3 (0.01%)	100.00%	3 (0.02%)	33.33%	1.67	00:01:54	0.00%	0 (0.00%)	\$0.0
82. libguides.bowdoin.edu / referral	3 (0.01%)	100.00%	3 (0.02%)	33.33%	2.67	00:00:34	0.00%	0 (0.00%)	\$0.0
83. libguides.keuka.edu / referral	3 (0.01%)	66.67%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
84. r.search.yahoo.com / referral	3 (0.01%)	66.67%	2 (0.01%)	66.67%	1.33	00:00:01	0.00%	0 (0.00%)	\$0.0
85. search-results / organic	3 (0.01%)	0.00%	0 (0.00%)	0.00%	4.67	00:09:41	100.00%	3 (0.05%)	\$0.0
86. search.earthlink.net / referral	3 (0.01%)	100.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
87. search.snapdo.com / referral	3 (0.01%)	66.67%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
88. t.co / referral	3 (0.01%)	0.00%	0 (0.00%)	33.33%	1.67	00:00:03	0.00%	0 (0.00%)	\$0.0
89. arborwiki.org / referral	2 (0.00%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
90. browse-search.com / referral	2 (0.00%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	100.00%	2 (0.03%)	\$0.0
91. centurylink.net / referral	2 (0.00%)	100.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
92. cpbis.gatech.edu / referral	2 (0.00%)	100.00%	2 (0.01%)	50.00%	2.00	00:00:47	0.00%	0 (0.00%)	\$0.0
93. curtislibrary.com / referral	2 (0.00%)	100.00%	2 (0.01%)	100.00%	1.00	00:03:47	0.00%	0 (0.00%)	\$0.0
94. dmc.maine.edu / referral	2 (0.00%)	100.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
95. gardinerme.vt-s.net / referral	2 (0.00%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
96. lib.berkeley.edu / referral	2 (0.00%)	100.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
97. search.bearshare.com / referral	2 (0.00%)	0.00%	0 (0.00%)	0.00%	3.50	00:00:18	50.00%	1 (0.02%)	\$0.0
98. search.proquest.com.prxy4.ursus.maine.edu / referral	2 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:18	100.00%	2 (0.03%)	\$0.0
	2 (0.00%)	100.00%		100.00%	1.00	00:00:00	0.00%		\$0.0
	, ,	100.00%	2 (0.01%)	100.00%		00:00:00		0 (0.00%)	
100. vitalitylink.com / referral	2 (0.00%)		2 (0.01%)		1.00		0.00%	0 (0.00%)	\$0.0
101. windowssearch.com / referral	2 (0.00%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
102. winthropmaine.org / referral	2 (0.00%)	50.00%	1 (0.01%)	0.00%	2.00	00:00:19	0.00%	0 (0.00%)	\$0.0
103. 130.111.64.156 / referral	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
104. adityogunawan.blogspot.com / referral	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
105. ahrefs.com / referral	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
106. apus.edu / referral	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
107. archiver.rootsweb.ancestry.com / referral	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
108. atom.doaks.org / referral	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
109. auburn.lib.me.us / referral	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:15:32	0.00%	0 (0.00%)	\$0.0
110. baidu / organic	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
111. barcodesinc.com / referral	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
112. beta.worldcat.org.proxy.bc.edu / referral	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
113. blog.eogn.com / referral	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
114. blueocean.org / referral	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:10:03	0.00%	0 (0.00%)	\$0.0
115. bpl.lib.me.us / referral	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
116. buenosearch.com / referral	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
117. civil.umaine.edu / referral	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
118. communitygeography.org / referral	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
119. conduit / organic	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:05:18	0.00%	0 (0.00%)	\$0.0
120. cpj.sagepub.com.prxy4.ursus.maine.edu / referral	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
121. cyndislist.com / referral	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
122. desireesandbox.omeka.net / referral	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0

123.	dogpile.com / referral	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
124.	earlymaine.org / referral	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
125.	editorialcastilla.com:2095 / referral	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
126.	etds2007.wordpress.com / referral	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
127.	fenuzkomputer.blogspot.co.uk / referral	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
128.	forum.daffodilvarsity.edu.bd / referral	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
129.	freepages.genealogy.rootsweb.ancestry.com / referral	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:01	0.00%	0 (0.00%)	\$0.0
			0.00%		100.00%					
130.	galenet.galegroup.com.prxy4.ursus.maine.edu / referral	1 (0.00%)		0 (0.00%)		1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
131.	gardinermaine.com / referral	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
132.	gigablast.com / referral	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
133.	go.galegroup.com.prxy4.ursus.maine.edu / referral	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:02	0.00%	0 (0.00%)	\$0.0
134.	guides.library.stonybrook.edu / referral	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
135.	gwlibraries.desk.com / referral	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
136.	halavi.org.il / referral	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
137.	heritagezen.blogspot.com / referral	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
138.	hi.baidu.com / referral	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:03:35	100.00%	1 (0.02%)	\$0.0
139.	iberry.com / referral	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
140.	igpa.uillinois.edu / referral	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
141.	infocommonsandbeyond.blogspot.com / referral	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:04:13	0.00%	0 (0.00%)	\$0.0
142.	khronikos.com / referral	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
143.	libguides.umpi.edu / referral	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:03:49	0.00%	0 (0.00%)	\$0.0
144.	library.ucr.edu / referral	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
145.	library.umf.maine.edu / referral	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:26	0.00%	0 (0.00%)	\$0.0
146.	library.wur.nl.prxy4.ursus.maine.edu / referral	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
147.	libweb.uml.edu / referral	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
148.	lm.facebook.com / referral	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:08:54	0.00%	0 (0.00%)	\$0.0
149.	luk.staff.ugm.ac.id / referral	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
150.	mainecat.maine.edu / referral	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
151.	mainenaturenews.com / referral	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
152.	mainepublicrecords.org / referral	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
153.	minerva.maine.edu / referral	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
154.	moodle.umeedu.maine.edu / referral	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:10	0.00%	0 (0.00%)	\$0.0
155.	newsearch.pch.com / referral	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
156.	nova.campusguides.com / referral	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
157.	openmultipleurl.com / referral	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
158.	openurl.ebscohost.com.prxy4.ursus.maine.edu / referral	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:00:08	100.00%	1 (0.02%)	\$0.0
159.	orono.org / referral	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
160.	pejepscothistorical.org / referral	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:03:33	0.00%	0 (0.00%)	\$0.0
161.	penobscotcountymegen.info / referral	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:10	0.00%	0 (0.00%)	\$0.0
162.	portfolio.du.edu / referral	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:08	0.00%	0 (0.00%)	\$0.0
163.	praise.manoa.hawaii.edu / referral	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
164.	preventioncurriculum.com / referral	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:05	0.00%	0 (0.00%)	\$0.0
165.	princetonlibrary.org / referral	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:06	0.00%	0 (0.00%)	\$0.0
166.	r.search.yahoo.com / (not set)	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
167.	rhetapress.com / referral	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
168.	ronyiut.wordpress.com / referral	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
169.	rootsweb.ancestry.com / referral	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.0
170.	search.dnsassist.verizon.net / referral	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	

171. search.gophoto.it / referral	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00
172. search.iminent.com / referral	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00
173. search.nerdydata.com / referral	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00
174. search.twcc.com / referral	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00
175. spatialnews.geocomm.com / referral	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00
176. start.toshiba.com / referral	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00
177. startupbangor.com / referral	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00
178. swagbucks.com / referral	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:10:11	0.00%	0 (0.00%)	\$0.00
179. thisoldyearbook.com / referral	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:07:18	0.00%	0 (0.00%)	\$0.00
180. translate.google.com.tr / referral	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:32	0.00%	0 (0.00%)	\$0.00
181. umaine.summon.serialssolutions.com.ursus-proxy- 7.ursus.maine.edu / referral	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00
182. unipassword.ir / referral	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:42	100.00%	1 (0.02%)	\$0.00
183. uprm.edu / referral	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00
184. ursus-proxy-10.ursus.maine.edu / referral	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:00:09	0.00%	0 (0.00%)	\$0.00
185. ursus-proxy-11.ursus.maine.edu / referral	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00
186. ursus-proxy-9.ursus.maine.edu / referral	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00
187. web.library.uiuc.edu / referral	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00
188. www1.assumption.edu / referral	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00
189. www3.maine.gov / referral	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00
190. yandex / organic	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00
191. zensearch.com / referral	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:06	100.00%	1 (0.02%)	\$0.00
192. zuula.com / referral	1 (0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:12:54	0.00%	0 (0.00%)	\$0.0

Rows 1 - 1